HYDRAULIC SWING CLAMPS | iHE#E&IIZRT

CHS/HSC

R AL

CHS/HSC HYDRAULIC >

SWING CLAMP

ERFIE

rERBERREEZHZEREREMCE
B RRSEENFNRERF. £EIN6E
DMEELEENy, TEE NETIETEIRE
TEEERERETHIRE, BB ERESE NE
BRIERACEE T,

EEERRBERTL, FNEREr
B, BRREEIR, LINERTRER, B
MIFFT N, GRSV B IRABEMIEIE B
=i, NESERINIERIE, REXE, &

SR,

EXIBIEEESD: 70 kgf/cm?
B/MEIEREE ST 15 kgf/cm?
eI B3

pE=E L

HE N IEA PR EBE E AR,
HHEERENEENSEBBRERSH

1.5,
BEREREENEERILE, FER
$BAE,

051 | & it B 41 & 51

“

FEATURES

The product is ideal for mass production on a

special purpose machine and jig in machining ez e
center. It will greatly upgrade the production géﬁggif) ~
efficiency.When the hydraulic clamp actuate, and ———

the piston moves downward, the clamping arm will N

swing to a rated angle. Then it lowers until the S

workpiece is clamped securely.

To avoid too fast motion, a flow control valve is
suggested to connect to the hydraulic swing clamp
cylinder. Do not clamp the work piece while the
clamp is swinging to avoid damaging the cylinder
barrel and internal parts.The cylinder body is made
from structural carbon steel.Inside surface is
especially treated for maximum smoothness and
long service life.

Max.operating pressure: 70 kgf/cm’
Min.operating pressure: 15 kgf/cm?
Double acting

NOTE

The acting speed of clamping-unclamping should be slowed down.

For customized clamp arm, please don't exceed 1.5 times of the original
length and weight.

The methods to mount & remove and the rotation diagram of the clamp
arm, please refer to page 4.

ZIEE Sectional view

SIS
=HEE

£TEEFERi% ORDERING INDICATION
:{5): CHS-MF25SR-90-E

CHS Z7 Series CHS/HSC
TH: e Line type TB: £78 Threaded body
MF: SHEHREEE Manifold with flow control  FAM: ERSELHERR Flange with manifold
M: SHEEHREY Manifold type FAMT: ERRESHESARMIFEE Flange with flow control
FA: jZRER Flange type
MF  EEType g I il m:ﬁ I 1‘ i R T\ i *‘\
E ] ég A T
=N
¥ L3l ! b4 Gd
LINE TYPE MF;ME;ZE WITH M'MANIFCﬁ TYPE FAFLANGE TYPE TBTHREADED BODY FAMFLANGE WITH  FAMT:FLANGE WITH FLOW
EEL FLOW CONTROL M:HERIRE FA: SRR TB: £ MANIFOLD CONTROL
MF: SRR FAM: SRR BRI FAMT: i BL R R B
S PAIAR
25 Hydraulic cylinder @25, P32, 40, D50, P63
inside diameter
S [EEREIS S:ERIEER S: Single side arm
Clamping arm type D:E5EER D: Double side arm
R BT R: |BfsEtAEE L: st Aee N:0°Ahigke
Swing direction R: Turn right L: Turn left N:0° No swing
90 BAAE A TR
Swing angle Standard angle 90° (+2°) Order angle 0°, 45° (£2°) ,60° (+2°)
E TEMR E TEINRE Stroke extension (EEEIIREFEERIERIR)
HIE 2805k SPECIFICATION
Jg IRRASFS = TiE & N . EERIN  IIRGE  EETE IROE IAZE EHSE  FGHEE
R qokgtiem) WEOR  gusm mapm WUEOR WEBOR C.p poom musm kusm @R @R @0
CLAMPING STANDARD EXTENDED STANDARD EXTENDED Oil STANDARD OIL EXTENDED OIL STANDARD OIL EXTENDED EFFPISTON EFFPISTON RANGE OF
MODEL FORCE AT SIS CLAMPING CLAMPING TOTAL STROKE TOTAL STROKE CAPACITY CLAMP  CAPACITY CLAMP CAPACITY UNCLAMP  CAPACITY UNCLAMP AREA CLAMP AREA UNCLAMP TEMPERATURE
70 kgffem? g T ROKE MM GrROKE (mm)  STROKE (mm) (mm) (mm) (am) (am) (am) (am) () (cm?) Q)
CHS 115 13 245 5.81 12.03 .
CHS/HSC-25 166 HSC 9 13 22 551 108 237 491 -10~+70°C
CHS 145 15 30 295 445 1445 2181 2372 3738 .
A HSC 11 15 30 26 1 1274 2009 2090 3296 e b A
CHS 145 15 30 295 445 2543 38.36 37.05 55.89 .
CHYHSCA40 603 HSC 11 15 30 26 1 2241 3534 3266 5150 862 1256 -10-+70°C
CHS 16 17 34 33 50 4445 6735 6478 9815
HS/HSC- -10~+70°
CHYHSCS0 943 HSC 13 17 34 30 47 4041 6331 5889 9226 e el A
CHS 16 17 34 33 50 7016 1063 10283 1558 .
CHYHSC63 1488 HSC 13 17 34 30 47 6378 9992 9348 14645 2126 3116 -10~+70°C

HRMRESTEENRS 15O FAEFARAY 1SO-VG-32 —fRiKREH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

PNEUMATIC & HYDRAULIC CLAMPS | 052



MODEL
ITEM

EeEx LINE TYPE-S

Single side swing clamp

A 3&3mFL, Clamping port

® WA HFL Unclamping port

CHS/HSC-25 CHS/HSC-32

CHS/HSC-40

FeEst LINE TYPE-D

Double side swing clamp

i1 TEREBEI0°FEFIARE

CHS/HSC-50

STSwing CHS 24.5:11.5/13 295:145/15 445:145/30 29.5:145/15 44.5:14.5/30 33:16/17 50:16/34

/Clamping HSC

A1 Unclamping Egg

A2 Undamping E';(S:

B
C
D1
D2
D3
E1
E2
E3
F
G1
G2
H
Pl
J

— X

N2
N3

053 | & i B 4 K 5

22:9/13
104
101
127
124

76
27
16
27
019
M10
®8
M14x1.5
10
50
140
9
p46
52
40
6.8
PT1/8

17
46
®18

26:11/15

118
115
144
140

85

52

30

18

31
022
M10

P8

41:11/30

148
145
175
170
100

M16x1.5

10
55
160
10
®50
56
44
6.8
PT1/8
10
19

®20

67

26:11/15

123
120
150
148
90

30

18

31
022
M10
@10

41:11/30

153
150
180
178
105

M18x1.5

10
60

30:13/17 47:13/34
137 171
134 168
167 201
166 200
100 117

34

20

37
025
M12
@12

M20x1.5
12
65

CHS/HSC-63

33:16/17 50:16/34
30:13/17 47:13/34
142 176
139 173
177 211
175 209
105 122
34
23
48
032
M16
@15
M24x2
15
75
200
15
®80

70
@11
PT1/4
17
22
68 85
@355

Unit:mm

CHS-80

30:15/15
142

187
105
34
28
52
034
M16
®16
M30x2
20
85
220
16
@100
110
87
®13
PT1/4
17
25
65
40

S tRBIERE MF-S

Single side swing clamp

A 34 HFL Clamping port
® FEEimFL Unclamping port

MODEL
ITEM

STSwing CHS  24.5:11.5/13

/Clamping HSC
. CHS
A1 Unclamping HSC
. CHS
A2 Unclamping HSC
B
C
D1
D2
D3
E1
E2
E3
F
G1
G2
H

22:9/13
104
101
127
124
76
22
16
27
019
M10
®8
M14x1.5
10
50
140

P46
55
42

6.8
19
P7

®18

CHS/HSC-MF25 CHS/HSC-MF32

29.5:14.5/15 44.5:145/30

26:11/15

118
115
144
140
85

41:11/30

148
145
175
170
100

25

18

31

022

M10

M16x1.5

10
55
160
10
@50
57

6.8
21
P7

®20

CHS/HSC-MF40

29.5:14.5/15 44.5:14.5/30

26:11/15 41:11/30

123
120
150
148
90

M18x1.5

EEtRBIERE MF-D

Double side swing clamp

it TEREMOZFRNE

25

18

31
022
M10
@10

10
60
160
10
54
63
48
®9
23
P9
p224

153
150
180
178
105

Unit:mm

CHS/HSC-MF50 CHS/HSC-MF63

33:16/17 50:16/34 30:16/17 50:16/34
30:13/17 47:13/34  30:13/17  47:13/34

137
134
167
166
100

30
20
37

025
M12
@12

171
168
201
200
117

M20x1.5

PNEUMATIC & HYDRAULIC CLAMPS | 054

12
65

180

12

p66

72
57
®9
28
P9

28

142
139
177
175
105

176
173
211
209
122
30
23
48
032
M16

@15

M24x2

15
75
200
15
80
88
70
@11
32
P9

9355



Single side swing clamp Double side swing clamp

1 TERBAIFZHIRRE

® 3&$EHFL Clamping port
® mEzimFL Unclamping port

Unit:mm

STSwing CHS 24.5:115/13 29.5:14.5/15 29.5:14.5/15 33:16/17
/Clamping HsC 22:9/13 26:11/15 26:11/15 30:13/17
M CHS 104 118 123 137 142
Undlamping Hs 101 115 120 134 =
A CHS 127 144 150 167 177
Unclamping HSC 124 140 148 166 -
B 76 85 90 100 105
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 o19 022 022 025
E1 M10 M10 M10 M12
E2 @8 @8 @10 @12
M14x15 M16x15 M18x15 M20x15
10 10 10 12
50 55 60 65
140 160 160 180
9 10 10 12
55 57 69 75
42 44 52 58
©6.8-¢10.5 6.8-910.5 @9-p13.5
x6.5D x6.5D x9D
18 22 26
20 22 26
P7 P7 P8
®18 ®20

33:16/17

m
w

gan-

Q
OXxz m R-I

>
Q

055 | & i [ & & 51




BB FA-S ARBY FA-D

Single side swing clamp

Double side swing clamp

it TEREMAIOFZFAE

® &3, Clamping port
® WAL Unclamping port

278! TB-S

Single side swing clamp

278 TB-D

Double side swing clamp

it TEREMA0°FHFIIRRE

EESHEEHR FAM-S ARRBYHEER FAM-D

Unit:mm

MODEL CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC

ITEM -FAM25 -FAM32 -FAM40 -FAM50 -FAM63
Single side swing clamp Double side swing clamp /g:smng CHS 245:115/13 295:145/15 295:145/15 3316/17  3316/17
. ; B Ras ampingHsC 22913 261115 2611/15  30:13/17  30:13/17
it TERWEM0TERIE A CHs 104 118 123 137 142
N Undamping Hs¢ -~ 101 115 120 134 139
noCHS 127 144 150 167 177
Undamping HSC -~ 124 140 148 165 175
B 76 85 90 100 105
C 22 25 25 30 30
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 019 022 022 25 032
E1 M10 M10 M10 M12 M16
E2 @8 @8 @10 @12 @15
E3  M14x15 M16x15 M18x15 M20x15 M24x2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
?l @45 @50 ®58 P68 @81
| 55 57 69 75 90
12 64 655 79 87 104.5
K 42 a4 52 58 70
L ©68-¢105 @68-9105 @9-¢135 @9-9135  @11-p17
x6.5D x6.5D x9D x9D x11D
M 20 22 26 30 32
£+, ; N 28 29 345 39 46
@355t Clamping port O-Ring  P6 P6 P9 P9 P9
® HERHFL Unclamping port Q 918 ©20 @224 @28 @355
Unit:mm

B MEEHRRIAEE FAMT-S LR MIEIRIIARE FAMT-D

MODEL CHS CHS CHS CHS CHS

MODEL CHS/HSC CHS/HSC CHS/HSC CHS/HSC
ITEM -FA25 -FA32 -FA40 -FA50
ST:Swing CHS 24.5:11.5/13 29.5:14.5/15 29.5:145/15 33:16/17
/Clamping HSC ~ 22:9/13 26:11/15 26:11/15  30:13/17
AT Unclamping CHS 104 118 123 137
HSC 101 115 120 134
A2 Undamping CHS 127 144 150 167
HSC 124 140 148 166
B 76 85 90 100
C1 22 25 25 30
2 - - - -
D1 16 18 18 20
D2 27 31 31 37
D3 019 022 022 025
E1 M10 M10 M10 M12
E2 8 @8 @10 p12
E3 M14x15  M16x15 M18x15  M20x1.5
F 10 10 10 12
G1 50 55 60 65
G2 140 160 160 180
H 9 10 10 12
oI 45 ©50 958 968
12 - - - -
J 53 57 69 75
K 40 A4 52 58
L ©68-010.5%65D 6.8-p10.5x6.5D 9-135x9D  9-¢13.5%9D
M1 PT1/4 PT1/4 PT1/4 PT1/4
M2 - - - -
N 28 32 40 50
T1x2PCS - - - -
T2 - - - -
Q ¢18 ®20 @224 928

057 | &M B K 5

Unit:mm
CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC
-FA63 -TB25 -TB32 -TB40 -TB50
33:16/17 24.5:11.5/13 29.5:145/15 29.514.5/15 33:16/17
30:13/17 22:9/13 26:11/15 26:11/15 30:13/17
142 104 118 123 137
139 101 115 120 134
177 127 144 150 167
175 124 140 148 166
105 76 85 90 100
30 - - - -
- 12 12 15 15
23 16 18 18 20
48 27 31 31 37
032 19 022 022 025
M16 M10 M10 M10 M12
@15 @8 ®8 @10 @12
M24x2 M14x1.5 M16x1.5 M18x1.5 M20x1.5
15 10 10 10 12
75 50 55 60 65
200 140 160 160 180
15 9 10 10 12
@81 - - - -
- M45x1.5 M50x1.5 M55x%1.5 M65x%1.5
90 - - - -
70 - - - -
@11-917x11D - - . -
PT1/4 - - - -
- PT1/8 PT1/8 PT1/8 PT1/8
63 28 32 40 50
- 10 11 11 12
= @65 @70 @70 @85
@355 @18 @20 p224 p28

ITEM -FAMT25 -FAMT32 -FAMT40 -FAMT50 -FAMT63
Single side swing clamp  Double side swing clamp o AST15/13 295145/15 295145/15 3316/17 3316/17
i1 TEAEA0FRRIIKRE i
Undamping CHS 104 118 123 137 142
. . Und;ﬁgpmg CHS 127 144 150 167 177
B 76 85 % 100 105
C 22 25 25 30 30
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 o19 O 0022 025 0032
E1 MIO M0 M0 M2 MI6
E2 P8 @8 @10 @12 @15
E3  MI14x15 M16x15 M18x15 M20x15 M24x2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
* * H 9 10 10 12 15
ol ¢45 @50 958 68 981
) 55 57 69 75 90
7, 64 655 77 87 1045
K 2 44 52 58 70
L ©68-¢105 968-9105 @9-9135 @9-9135  @11-917
x6.5D x6.5D x9D x9D x11D
M 20 2 26 30 32
N 28 29 345 39 46
. . O-Rin P6 P6 P6 P9 P9
® ki, Clamping port Q- 018 @20 @24 @28 @355
® KEEHFL Unclamping port z 275 285 345 375 45

PNEUMATIC & HYDRAULIC CLAMPS | 058



	页 7
	页 8
	页 9
	页 10



